
  

The Switcher – Chapter 5 

 

 
Comprehension Questions 
 

1. At the very beginning of the chapter, Ben couldn’t climb out of the 
bag because… 

 a he was feeling too weak. 

 b it was zipped up. 

 c he forgot that he was in a dog’s body. 

 d he was in Mr Watson’s office. 

 e he was feeling wary of the cat. 

 
 

2. Where did Ben head to after leaving Mr Watson’s office? 

 a the school hall 

 b the school office 

 c the science department 

 d the music room 

 e the art store cupboard 

 
 

3. Nell told Ben and Rocky that… 

 a they would need to go back inside The Switcher. 

 b they should not perform in the competition. 

 c they would switch back automatically. 

 d switching back might be a little painful. 

 e they should go outside as much as possible. 

 
 

Why didn’t Ben want to sit near the other dogs? 

 a he didn’t want to join in with the bottom-sniffing activities 

 b his collar and lead felt uncomfortable 

 c he wanted to sit at the back to get a better view 

 d he wanted to be near the parrot 

 e he was scared of the other dogs 
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5. Why did the parrot make Rocky drool? 

 a Rocky felt angry with the parrot 

 b Rocky wanted to play with the parrot 

 c Rocky was annoyed with the parrot 

 d Rocky wanted the parrot to be his friend 

 e Rocky thought the parrot looked good enough to eat 

  


